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PART -1: MENTAL ABILITY TEST
(For Students of Class VIII)
Time : 50 Minutes Max. Marks ;90

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you open
the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet.

2. There are 90 questions in this booklet. All are
compulsory.

3. Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Do not mark ‘v or %’ in the OMR sheet.

4. Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending too much time on any one question.

5. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which you
have left in the first instance and attempt them.

6. Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet// loose paper.

7. Each correct answer will be awarded one mark.

8. Please return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the
Question Booklet

9, Quote the seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.

ugd - 1 : uardSmar GHiay
(it su@liLy L smaT il & (615 & e §i)

Epmd : 90 fFfl_fusser Guongg wgQusinast : 90
Caitey sTg@ILaTaHEnssTar afH s s
el g0 Gt B s n QTGS Bor

el pemmaanaT s &eaarions: Lilg HieRaLD.
1. e sesr OMR el ggrafled @b GG,

2. @#Csisia 90 eflermsst vararmr. HmerESnEG0
&L Lmuh sfie_wefiésiu Gastor(Hio.

3. galamm aamalfien GarGasiu’ G wrhy
aflenseflflmig sfwursr aflsnfemand s b
2ms OMR aflmLgsmafii 2 fiu L gHo SEoy Hp
urdurefleier.  Guemmsflernd  SUL Gausir G
v o ‘% gy B @ fiBaamar OMR aiflemi_ gl
Clerinus g g

4. PadlaranEnsE ST M mMmTUDS6I-
L’ @siren5iTeD 6154 (5 aflemailgid s Gipsh GHyHmess
Genaflssros Crrgms Med Anks (penmuslen
A SabeE

5. garag e lamadie silme Ggunissmes eempms
20ty sraainun Gaiumses Hbiss demailpe
Qspmain. CrrlAmisrd wesdd oALHFAaTD
silarréasaman pupd Gainumngd.

6. aflemLsmards s i GuhGlarsmgmn auflipmpasmer
efflenrr Era @ ndleh sring Goustm(Bronsmmginh Gealigy
Qarsrarmnn. OMR — silen araflGar gyfmg
geuflsemafiCanr Gniiss. | g

7. gaQarg sflurer allm s@h @@ wHOHGUIT

s

suprsOLEHD.

8. Gain Webs Up@ OMR almibgrmar Wi G
smpbaaanarefiiursiib QarEdsnih. el swrmggTsh
Qrigieny Gasiast s Qedmans

9. atasmid S5 Gem iy Qersmm Cusinw HpEss
ghupdr g Buss uHCamrmand SanTo
@ a0

ubssmss Sl uwsflses Cgm misab.
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MENTAL ABILITY TEST/ wesnigdmen Csiiey

Direction (Q. No. 1to 5) : suflpenm (sll.e1601 1 (pGH6v 5 eueny) :
The diagram shows some relationship among the | @arRastulGerer LLR&ET pelbeaumanmi
three items given. From the given diagrams A, B, | epeng e muysEpss Qe Gu 2 drer
C, D and E choose the correct diagram that | QgrLfrenus ari@pdaper. gabearmg
corresponds to each question. eflamrel@h Qarfyenul gflurer uLSas
Qar@&ssiu_Béaer A, B, C, D wpmib E
uLrisefladimps CambbsBésab.
OOV @| 69OV ®®
A B C D E A B C D E
1.  Gold, Metal, Zinc 1. gmsb, 2.Carsb, esHrsn
o"’A (2) B M A (2) B
3) C 4) D @) C 4) D
2.  Examinations, Questions, Practice 2. Gpreysdr, eflamaser, Ludhslser
(1) B @) C (1) B 2) C
@/b 4) E (3) D 4) E
3.  Rational numbers, Fractions, Integers 3. elflsupm  erewmsedr,  Genenriser,
(WD &SET
1 A @fE | (1) A ) E
() C (4) D (3) € (4)
4. Sand, Water, Air 4. wawe, BT, sTHH
(1) B 2) D (1) B ) D
0 ¢ 4) E @3 C @) E
5.  Classrcom, Blackboard, School 5. au@liuen, smbLIQ®S, Lger]
(1) A (2) ,»C (1) A (2) C
3) D @ s 3) D (4) B
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Direction (Q. No. 6 to 10) :
Find the odd cne out,

-~
6. (1) 7:22 9 8:33
(3) 12:37 4) 15:46
'
7. (1) 113 @ 123
(3) 157 (4) 139
8. (1) Moon (2) Earth
(3)  Football @’” Bangle
9. (1) (4, 16, 60) (2) (5, 25, 120)
O (6 3, 216) (4) (7, 49, 336)
10. (1) 75% () 075
3 -
3 3 @ s

Direction (Q. No. 11 to 15) :

There is some relationship between two given
words/ letter/number before “ : : “ symbol. Find
the other one from the given alternatives having
the similar relationship.

11. 43:14::54: .
(1 24 Q =
3) 16 (4) 23
M 13 R

2. gigip f—
“ 18 19
(o s @ 7
9 8
®) 5 @ 5

sublpenn (eSl.er650r 6 (LpEL 10 suemy) :
AurmESTS gevanms sarr_fluea)b.

6. (1) 7:22 (2) B:33

(3) 12:37 (4) 15:46
7. (1) 113 (2) 123

(3) 157 (4) 139
8. (1) dler (2) Ll

(3) sraubHg (4) euemeTiLe
9. (1) (4, 16, 60) (2) (5, 25, 120)

(3) (6. 36, 216) (4) (7, 49, 336)
10. (1) 75% (2) 0.75

a3
@ 3 (4) 7.5

auflapenm (efil.stetur 11 (psev 15) :

Y erem GO 9 D@ apen edrer Grawt®
urigens /e (ps g/ orams@nsden L Gu
gCsaibd @@ Gsriiy sdarg. 2Cs
Llareidlen sglive e Gar@éssiucL
Qefleysafldlmpa wHGprarteons Csin-

GlgHEsaib.
11. 43:14:;:54:
(1) 24 (2) 15
(3) 16 (4) 23
M- 13 . E
12. E ' —'2' D —
18 19
M T @
9 B
B 5 @ 3



13. South : North West : : West :
(1) North of North East
(3) South West (4) East

14. Sugarcane : Stem : : Clove

(1) Flower
(3) Root

15. India : Banyan tree : :
o “ Palm tree

(3) Neem tree

Tamil Nadu :
(2) Coconut tree

(4) Mango tree

Direction (Q. No. 16 to 22) :

Find the missing term.

16. B12C, E15E, H18
(1) M22]
(3) K19]

G, _ S N2AMK

9 K211

(4) L211

[CODE[vI| 1|25 |

13. Ggpne : e Cupe : - Cong
1) e ss (2)
(3) GsanCuwhE (4)

sul_&lLp&E
AYs6

14. &by : s : : Fevams

1) u (2) Gurl®
(3) Geur (4) safl

15. @pHwr: e @ SODEIE :
(1) wenen LOFLD (2)

Qgenenen LD
(3) Geuliw wgd  (4) LOTOID

auflapenn (efl.etevor 16 (Lpge0 22) :
UL e mlenusd Sar(Hidl.

16. B12C, E15E H18G, __ ,N24K
(1) M22] (2 K211
(3) K19] @ L211
S]?]
17. [D[1M]
[E[F[G[H
(1) B (2) D
(3) G (4) K
s 10/,.\3 8/, \4 E/,N&
5 6 7
(1) 25 (2) 33
(3) 27 @) 21
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19. Ifthe code for ' TEACHER' is‘ AETEREH' then
what will be the code for ‘PROBLEM’ ?
(1) ORPCMEL (2) RPODMEL
@"” ORPDMEL (4) RPBUELM

20. In the given letter series, find the missing
letters,

bca _b _aabc _a _caa

0 acav (2) bebb
(3) cbab (4) ccab
21. 11, 17, 15, 13, 15, , 23,5,
1y 17 @ 11
F
(3) 8 O o
A [E
248 5
22. 1121 12
58 | 27
(1) 492 @) 512
(3) 496 O 50

Direction (Q. No. 23 to 28) :
Find the next term in the following series,

23. 565,112, 27,8,3, _ .

0 »

(3)

(2)

0

(SYE™

(4)

19. 'TEACHER’ eremm Gleme) ‘AETEREH’ erem
@Ol L e ‘PROBLEM’ erenmm @leme
ereueumm @il Gu@n ?

(1) ORPCMEL (2) RPODMEL
(3) ORPDMEL  (4) RPBUELM

20. Gsr@ésuul@drer erpds Gsrid
afl@stde eSGuUlL awssssamar
ST,
bca_b_aabc _a_caa
(1) acab (2) bcbb
(3) cbab (4) ccab

21. 11, 17, 15, 13, 19, i 29, 3.

(1) 17 (2) 11
(3) 8 4) 9
? 2
248 5
2. ha 12
58 | 27
(1) 492 (2) 512
(3) 49 (4) 503

suflapenn (effl.stetor 23 (LD 28) :

Aereumnd Qsrireuflensulies 2iBHéa aumd
2 miuenLs sam® iy

23. 565,112, 27,8 3,

(1)

a

i

i

(2)

(3) 0 (4)

B w3



24.

25.

26.

27.

28.

29,

30.

31.

251 1
3’ 713" 19
y 2 B
M 33 ) 535
23 23
B % 0 29
6, 0.6, 0.12, 0.036, 0.0144 .
”
0.00720 (2) 0.0720
(3) 0.720 (4) 0.000720
AELMQ .
(1) S @ T

@"U ) v

BC10, FG26, K42, NOS5S, ;

O rsn 2) ST78
(3) TUS6 (4) XY88
7 12 2 4
ST ST G
T gy B
0 13 & BT
- 82 gy 2
O = @ Ta
If CAN =21 and DEAR =32 then STUDY =7
(1) 43 (2) 74

(3) 89 (o) “94

If SUN = TRVTOM and GST = HFTRUS, then
TEN=?

(1) SUFDMO
(3) UFSDOM

@ usepOoM
(4) SUDFMO

I “sweet and sour” = 413, “eat sweet apples”
= 748 and “apples are sour” =753, then
eat = ?

(1) 4 (2) 6

3) 7 O s

24,

25.

26.

27.

28.

29,

30.

31.

[CODE [vin] I | 25 |

2 5 11 17
3'7'13° 19"

2 y 2B
1 33 @ 3
3 = 4 3
6, 0.6, 0.12, 0.036, 0.0144, :
(1) 0.00720 (2) 0.0720
(3) 0.720 (4) 0.000720
AELILMOQ _ .
1 s 2y T
3 U 4 V
BC10, FG26, ] K42, NOS5S8, .
(1) RS74 (2) ST78
(3) TUS6 (4) XY88
7012 22 42
11" 21" 41' 81

92 &2
@ 1 @  Tm
3 82 4 102
3 & @ Ta
CAN =21, DEAR =32 erafley STUDY =?
(1) 43 () 74
(3) 89 (4) 94

SUN=TRVTOM wpmib GST=HFTRUS,
erafiéh TEN=?

(1) SUFDMO (2) USFDOM
(3) UFSDOM (4) SUDEMO
“sweet and sour” =413, “eat sweet

apples” =748 opmib “apples are sour” =753
crevilen eat = ?

(1) 4 2) 6

@3 7 (4) 8
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Direction (Q. No. 32 and 33) : auflpenm (ell.stetor 32 wHmD 33) :
Study the information and answer the questions. | Geieu(mid @illsmens Qaram® efenwef.
Letters [T [ N(P|C|G|A|EJH[K][1I Letters | T | N|P|C|G|A|E|H[K
Codes |A|#|*|e|+|@|2|@|%|~ Codes |A|# ||| |@|2 |0 |%|A
32.  What will be the code for “HIKE” ? 32. "HIKE" eremusmaren @dluim
1) Aya Q ow (1) ~%r@ Q) @ %2
@) %@ 4) @%A (3) %@ (4) @7%A
33. The word that corresponds to the code |33, “a%@ * 0" eranLIenGE @@ auridens
“Al7@d e ©" is S
@O 1EACH (2) EATCH (1) TEACH (2) EATCH
(3) HAECT (4) TECHA (3) HAECT (4) TECHA
34.  Arrange the given words in a meaningful | 34. Q&r@&s01L0 G drer Cerpsamer
sequence and choose the correct option : 2Tggsdlen Snlivam e auflasi-
SICETAES
(A) Shoulder (B) Stomach (C) Face (A) Shoulder (B) Stomach (C) Face
(D) Neck (E) Foot (D) Neck (E) Foot
(1) EDCBA @" CDABE (1) EDCBA (2) CDABE
(3) DCEBA (4) ABCDE (3) DCEBA (4) ABCDE
35.  Arrange the words as per Dictionary, 35. gmde srrd wapula cuflas-
LH&ss.
(A) Rain (B) Relief (A) Rain (B) Relief
(C) Rescue (D) Release (C) Rescue (D) Release
(E) Rank (E) Rank
(1) AEBDC (2) AEDCB (1) AEBDC (2) AEDCB
(3) EADBC @fAEDBC (3) EADBC (4) AEDBC




Direction (Q. No. 36 and 37)

Study the given arrangement and answer the

following questions.
A43@9Z%37 + PR821Q+*YB
36. Which of the following is 5 to the right of

37.

38.

39.

40.

41.

11th character from the right end ?

1 @ 2) 9
0" @
If all the numbers are removed from the given

series, then which of the following lies in the
middle of the series ?

o0

1) Z 2 %
@) + O r

Select the correct set of symbols that satisfy
the equation 28 ___ 6 25 5 4=2

M + x,+ - (2

9"’-,><,+,+ (4)

If a*sb=axb and a#b=a-+b, then the value
of (24+7)#(48#8) 15 :

(1) 20 (2) 38

(3) 26 :

Ky=, T+

+lx!ul+

If “+" and ‘' +' are interchanged and 3 and 6
are also interchanged, then which of the
following equations is true ?

vy
(1) 6+3+2=1 @ 3+6+2=4
(3) 6+6+3=10 (4) 2+3+6=5

If AxB=AP and A+ B=B" then, the value
of 2% 4)+(0+5)is ____

(1) (2) 16
@); (4) 5

[CODE|[vIL|1 | 25 |

auflapenn (efl.erevor 36 wHDID 37) :
Qer@sstucBHerer auflens senwlenu Lfibs)
Wemeumin eflemésians@ llentwafl,

36.

37.

38.

39.

40.

41.

A43@97%37 + PRB21Q+YB
awag paauldimps 11 g
eililypE wagupd 5 palg

GLsdle Gmuus
1 @ @ 9
(3) 2 4) 8

Qar@ssiul L eafleaslled o drer
Sioa@ss eransEnd fEsuulL e,
Bsparerapper pheia @ouus

(1) £ (2) ‘%

@ =+ 4) P

98 6 ___25_ 5 ___ 4=2 erep
swarurligenen  Hlewpe Geslub
@SOS (BE CsrEuy :

(1) +, %, %.—= ) ¥i=E=T

(3} =%, 4) +.%x,-,*

ath=axb wLpmb atb=a+b erafle
(24%7)#(4848) =7
1) 20 (2) 38

(3) 26 (4) 28

‘+ g+ @b wrydpg Cuogib
3 pmib 6 L b wrydng erefle &flwirer
FnamLIm(H :

(1) 6+3+2=1 (2)
(@) 6+6+3=10 (4

34+6+2=4
24+3+6=5

AxB=AB wpmib A+B=B% eafa,
(2x4)+(0+5)=7?

(1) 0 (2) 16

3 1 4) 5
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Direction (Q. No. 42 to 46)
The following diagram gives
the students who take part in

held in a school. Study the
the questions.

the information about
the three competitions
diagram and answer

>
.
>,

<

H

3
-,
)
o

42.
competitions is

B
D

(1)
(3)

43.

0
@) G

44. Students who took

competitions are denoted by

(1} BandF

(2) BandD

(3) B EDandF
owﬁ, Dand F

Students who took part in all the three

Students who took part in drama neither in
drawing nor in dance is

c
H

(2)
(4)

part only in two

10

euflpenp (efl.eretmr 42 (1ps5e0 46) :

@ werefilde mpenQumib apermy eflswren
Gurlgsafle umE Qumb wrereairseaien
eilaupmser Wemaimd UL 58 Qar@as-

UL (erarg).
N
&
& %
TN
H [BL_GLD
42. ey eflswrer Curigsaigd Ukig

43,

44.

CGupid wreraismes GHlsGD LGS

(1) B (2) E
3 D (4) F
prossfles  wl@o  umiEGuhm,

BLagdlGar sidag galwiHCar
ub@ Cuprg wrena fsaams GhléEn
ued
(1) A

3) G

C
H

(2)
(4)

gGaain @rem® Curiuseia wl (b
sOHFE CaTanEnd (oreweiseaard
GHEE0 ued

(1)
(2)
3)
(4)

B wmmd F

B opmith D

B, E, D wdmid F
B, D womitb F



45.

46.

47.

48.

49.

Students who took part in dance and
drawing but not in drama is

@ v

4) E

C
G

(1)
(3)

Which refers to the students who did not take
part in any of the three competitions ?
(1) A (2) C

3) G 0O =

Pointing to a man, Monika says, “His only
sister is the mother of my son’s mother”. How
is the man related to Monika ?

o fMaterna.l uncle
(2) Grandfather
(3) Father

(4) Nephew

A and B are brothers. C and D are sisters,
Sister of C is B's daughter. How is D related
toB?

(2)
(4)

Sister

Mother-in-law

If LION is coded as OLRQ, then the code for
RISEis

QHRD
TKUG

(1)
()

(2) SITF
© uLvH

11

45.

46.

47.

48.

49.

[CODE[vII| I | 25 |

BLend whnbd @elwidléd ubGEUOD
Sperd prissHa umeEg GupTs
wremalisemard GHHEGHD LGS

1) C (2) D

3) G 4) E

apenmy  Gurlgsaigind ukGshsrs
wrenTalT&eneTs @hls@n U@l

(ny A (2) C

3 G (4) H

Guraflsr eremuieur g Lee LTTSs)
“Glaumpeniu G sCarsfl erang waedn
Sbwredlen bW aratm FmmEDriT
crafled, sjeur CureflsrelpnE eorenen
2.mey ?

(1) sml wrow

(2) srEsT

(3) nur

(4) sGangyan/sGargflullen waem

A wpmib B sCGesngrrser, C whpiwn D
sGarsflaer, C -an sCargfl B -an n&em
yeunit erefley, D eremieui B -&@ ereman
emey 7

(1) ser (2) &Cargfl
(3) T (4) mdlwrr
LION gremm Garedd OLRQ erenéd

@A OulLre, RISE erenp Gere
ereueurm @Dl i@ ?

(1) QHRD (2) SJTF

(3) TKUG (4) ULVH
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50. Choose the correct option when a sheet of

paper is folded to form a cube.

A

N o] m|

D|

(1)

(3) (4)

Direction (Q. No. 51 to 55)

A Number arranging machine when given an input
arranges the numbers step by step in the following
way. Identify the rule followed in each step and
answer the questions given below.,

Input 60 30 45 12 55
Step 1 12 60 30 45 55
Step 11 12 30 60 45 55
Step 111 12 30 45 60 55
Step TV 12 30 45 55 60

The step IV is the last step of the rearrangement.

51. Input: 100 12 65 02 90
What is step 11 ?
@"'uz 12 100 65 90
(2) 02 12 65 90 100
(3) 02 12 65 100 90
(4 02 100 12 65 90

12

50. Qar@ésuul(arer grener Loy &Eib
Gung de s@w aamssgnd ergy 7

——

[ A

E
B
C|D]

(1) (2)

Al

(3) (4)

auflpenn (6f.aiemr 51 (psed 55)

cansener aiflemsu@sgsid @f Guipfro
Qer@ésuupn e dat@smer  Gemeusid
v Bleoaseiid wflasubssdns. abaunms
ug flevwsalgid edar  alfapeapsanar
sawniblba Semeumib eflenméaends el et

2 _araf(p 60 30 45 12 55
Ligblenen 1 12 60 30 45 55
Uig Hlenen 11 12 30 60 45 55
uigBlenay 111 12 30 45 60 55
Lig Blenay IV 12 30 45 55 60

uigflea IV -eng Qoifl Ligflos 2@,

51. edmaf(®:100 12 65 02 90 erafled
Ligbleney =2
(1) 02 12 100 65 90
(2) 02 12 5 90 100
(3) 02 12 65 100 90
(4) 02 100 12 65 90



52.

53.

54.

55.

56.

Input : 20 10 50 70 90
Which step will be the last step ?

(1) Step 1l (2) Step Il
-
(3) Step IV @ Step [
Input : 500 400 300 200 100, then which
of the following steps will be
“100 200 300 500 4007 ?
(1) Step | (2) StepII
(o MET I (4) Step IV

Input : S 5 7 4 3
What will be step IV ?

(1) 4 5 9 7
@‘/: 4 5 7 9
@ 3 4 9 5 7
4 3 9 5 7 4

For which of the following inputs, step II will
be the last step ?

O 15 10 20 13 25
2) 30 27 24 21 18
(3) 45 30 28 65 18
4) 76 56 65 70 60

A man walks 10 m towards East and then
turns left. After walking 7 m, he turns right
and walks for 8 m and reaches his destination.
In which direction is he facing now ?

South
West

(1) North (2)

@f East (4)

52.

53.

54.

55.

56.

13

[CODE[vin[1 | 25 |

peraf®: 20 10 50 70 90 erafled
SlemeumeuemeupmieT avgl @midl Lighlenen ?
(1) ugfeed (2) ugbee II
(3) ugflea IV (4 ugflewl

o eraf(® : 500 400 300 200 100 eredfiey
“100 200 300 500 400”

eranLigl eThs Ligfleney 7
(1) ugflene I (2)
(3) uigflenew I (4)

uigSleney 11
Lig Hlensy TV

earaf®: 9 5 7 4 3erefle

Bransreugl Ligblene eremen 7

M 3 4 5 9 7
2 3 4 5 7 9
@ 3 4 9 5 7
@ 3 9 5 7 4

et o 2. oo g Gramrag
uigflenew @mid LgHlenewns Henouyn ?
(1) 15 10 20 13 25
2 30 27 24 21 18
(3) 45 30 28 65 18

4 76 56 65 70 60

amair dpse Cprad 10 8 girb b
Qen sens @Lsupwrs 7 5 giyd
pLEADTT. e pengl eueiiymd Hpbld
g8 & g Qeeay s Qosos
a@LBpri erafle, Sjeur sHGUTSH
crsdlens Crradl Hodpri ?

CenE
GunE

(1) a.lL,ds@ (2)
(3) HpsEs (4)
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57.

58.

9.

6.

Ram drives his car for 80 km towards North.
From there, he drove 30 km towards East and
then 40 km towards South. How far is he now
from the starting point ?

60 km
150 km

(2)
(4)

Number of triangles in the given figure :

(1 15
(3) 13

2) 14
@/:;me than 15

In a leap year, what will be the date before
19 days of 6" March ?

-~
O 16" February (2) 18 February
(3) 17 February (4) 15th February

The angle between the minute hand and hour
hand of a clock when the time is 12:30 :

Q\/t 65° (2)

(3) 175° (4)

170°
180°

14

57.

58.

59,

60.

FrD eranueul seng Wl pHdld euL s
Sens Gpradl 80 £.8. sirh Gsearm
Sinudmbg Hpas dasulla 30 4.8
g Geeny Sew QgihE Hengulier 40 4.5,
GiT GCleamenL HETT erefe, 2jeuf
e fllla  Hfpgd @Lsfnen
S TbEss @LsHnEn BeGu o drar
ENTLD :

(1) 50 &l.ib.

(3) 70 &l.b.

60 &8
150 & .18,

(2)
(4)

EpseanrL uLgdler o erer 1p&Gamenii-
sotlen erameniibens :

2) 14

(3) 13 (4)

15 -&@b Guoda

@ @B L _reimig éb (Leap year) omivé 6 -
19 BrLs(ERsE PETensis: e Brer ;

(1) @ogeufl-16  (2)
(3) (4)

Gdipeuf - 18
Gidreufl - 17 Wioreuf - 15

@ suerride Corn 12:30 wafwrs
Bmaen Curg wafluyer wHmn BB

wer pHuapdlneg @ Cuudrear
Camemrid :

(1) 165° (2)
(3) 175° (4)

1707
180°



Direction (Q. No. 61 to 65) :
Study the given graph and answer the following

questions.
Y
rY
ﬁ Private
Schools
SU.EI.N} i o -5 [ CACHcs o
g LA L é%!"‘qu g.-_{::;r,m o
5 20.000 + — a :-:‘.{.-".??:T :“:}“ Government
3 e e Aided
z 10,000 4 E./',f e Schools
7 X - : X
i >
&r Years
61. Total number of students in the year 2002 is :
(1) 10,000 (2) 20,000
0 730,000 (4) 15,000
62. Number of students in Govt. schools in the
year 2005 is :
s
@ 15,000 (2) 25,000
(3) 5,000 (4) 10,000
63. Total number of students in Govt. and Private
schools in the year 2001 is :
-~
(1) 10,000 O 20000
(3) 15,000 (4) 30,000
64. Maximum number of students in Govt.

schools is in the year

szﬂna

(3) 2005

2

2004
2001

(2)
(4)

15

[CODE[vHI] 1|25 |

suflipenn (efl.eremr 61 (pgev 65) :
Géenaumid euenruL R mbgs GalsuuLL
ellanmmasEndse ellenwafl.

N
30,000 +
§ 20000 -
& 10000 4
g S
§ o] o 2w e o s
Y s
61. 2002 -21b g GLTES LTERTET-
saflel eTameanTi&ens |
(1) 10,000 (2) 20,000
(3) 30,000 (4) 15,000
62. 2005 -lb p@Tigd sral LaTefigafia
2 e WramTeuiEeaTian areRTeniSans :
(1) 15,000 (2) 25,000
(3) 5,000 (4) 10,000
63. 2001 -&b SpeTiqd FeflwrT LHHID
@rsl  udaedflsafle odar Qwrgs
wiramelraetlan cramenilEms :
(1) 10,000 (2) 20,000
(3) 15,000 (4) 30,000
64. rsl  udaaflsafid  WTew e T a6
ganafsms He fsors e
GU(MHLLD S
(1) 2003 (2) 2004
(3) 2005 4) 2001
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65.

Direction (Q. No. 66 to 70) :

Read the information and answer the following
questions.

Kumar has 5 marbles named A, B, C, D and E of
different weights. A weighs half as much as B. B
weighs one and half as much as C. C weighs twice
as much as D where D weighs three fourth as much
as E.

66.

67.

68.

The difference between the number of
students in Govt. Aided schools and Private
schools in the year 2004 is

(1)
(3)

1,000
10,000

(2) 15,000

@ 5,000

Which marble is at the middle most in
weight ?

(1) D (2) C
(3) B @ A7
Which marble is the lightest ?
(1) B @) C
@/ D 4) A

The heaviest marble among those 5 is

O s

4) D

1) A
(3) C

16

65. 2004 -gb yearged, irs Hfuysed
Glupid vereflsatie) e drar wremmauisefian
TanemSanasE@D, saflwurt udraflsafdn
2 &mem wreRteutEetien erementldensdiEio
e erer elldSwimsd -
(1) 1,000

(3) 10,000

15,000
5,000

(2)
(4)

suflapenm (elleurm erever 66 (&0 70) :
QarBssuul L elleurhisemerts Ligss
Spssremid eflanmés@res eflen weflsse b,
G eremueufiLid A, B, C, D wimib E eren
Quuflciul L gps QaaiGagy sreLsdr
Qsrawme. uefllmi@adr o arerear. A -e1 erenL
B -en eTenepwis Gurmed urdl L@, B -an
L, C -&n eranL@wl Gured germeny
L@, Gogib C -gang D -gi Gurd E)m
WDOLMBIE erenl b Wdmih D -gn erenL_imens)
E -an ereoLewwis CGurméd prendla pLp Ty
LRST&EaD 2 aTarg).

66. eTearLsdllar SwlueLwld pEeld
BmsEn uafliug ergy ?
(1) D (2) C
3) B 4) A

67. Wl&s Gepeuren ereniwjerer uafliig
erg ?
(1) B (2) C
(3 D 4 A

68. 5 wuellgselle Bls efswre
erenLiyenw Ueflhi@ eray ?
1) A (2) B
(3) C (4) D



69.

70.

The marble which is lighter than E in weight

15 -
(1) B (2 JY

3) A 4) C

Which marble is heavier than A but lighter
than B ?

(1 A (2) D
(3) B @j&

Direction (Q. No. 71 to 75) :
Complete the sequence.

71.

Te-

73.

©?
3

O ®

()
)

(1) (2)

> < < <
- - > >
> > < < ?
}:? }} }:* {}
< < > >
> < < <
< < > >
{::- <> -C,} ‘ <<
(1) Q. O (4)
¥ = A O
- oA +O0 -l@ A ?
AOOC eCe o +0 +—
® ® ®) ¥
o o lo O @ a |- ©
+A-| [+—-a OD+- AOC®

n O o o

69.

70.

[CODE [vin] 1| 25 |

E-m eflL el @opeurear uefimid

(1) B 2) D
(3) A @ C

A -g eflL eTen Biflswraeyb, B - el
eTenL @empeunEayld eear el ergl ?
(1) A (2) D

3) B @) C

sulflapenp (efl.sredur 71 (pgev 75) :
Car@ssuulL Qsriey Wiss Claws.

71.

72.

73.

17

()
)

O]
(&

(1) (2) (3) (4)
> < <
> > > >
> > < < ?
2> 2> > | =5
< < > >
> < < <
2-:» 2} <:§ <§ }
(1) (2) (3) (4)
-+ - Fay ]
— OlA 41 —|® Py 7
ADeDeo®e O +0 + —
L ] i o +-
@] O (& O @ i = @]
+ A — + — A O+ — AT @

(1) 2) (3) (4)
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74. | —— i]% ?
#5572
(1) 2) O o
® i e
75. l—-h ]\‘7 N ?
®
.41 A\ 4| &
1) @) O ©

Direction (Q. No. 76 to 80)

Choose the figure which is different from others.

76. z l JD@ y &)@
X
(1) ) (3) 0.
IR
) af 5 @
AP AR ES
(1) ) Q o

74,

75.

P
Z\ 55| 2|\ #
(1) 2) 3) (4)
® + ®
N | | N | 2
A 4 A’] A
(1) (2) (3) (4)

suiflapenm (elil.ereier 76 (Wae0 80)
Ger@éstuBerer LLkisalld LIMULLmg

Ceihls .

76.

| —

77.

78.

18

A

e

¥

o]

(1) (2) (3) (4)
O] ()] [2
(1) (2) (3) (4)
(1) (2) (3) (4)



M  (®
o T TS
N N 4L 2

(1) 2 (3)

Directions (Q. No. 81 to 85) :

There is some relationship between two given figures
before  : : ” symbol. Find the other one from the
given alternatives having the similar relationship.

o (Ao (M)l gfi| 2
Y ME 2
o @ © 4)
2. | <= il S ol U) i o?
VW

(4)

| CODE [vIIi[ 1] 25 |

~ DA QD
(1) (2) (3) (4)
o CF TN
N N 4”&
(1 @ (3) (4)

sublpemm (&f.eremor B1 (Lpge0 85) :

Yo" erenn GO ghE @pe o drar @ye(h
LLhis@Eh&E0D el G gGseanibd gm Clsmi
o arergl. 2Cg Ggremfer =g iue b
Qar@asiul L ksl mbs lHUCL
genanpsd CorHélsH.

s | Ao :®:'D‘:t?
§ 1M -
v @ ® @

Y EYPYE
> [m] [m] [w]

(4)

19
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B3.

84.

85.

86. Mirror Image of

|$:$::.@: 2 | |8
3|53
0O o o @
EH Q@ 2 ||
D K
n QO © )
A A ]
N2 2T 2.
(1) () 0O

(1)

(2)

A ® |+ A O z o
y ?
:::-\’/+.o/&\ '-ﬂx
» £ 0 [ I = ®»OU . (S
-ﬂ in oZ ozx
(1) (2) (3) (4)

86.

e
g semrentmg. 19lDLID

(2) (3) (4)




87. Water I.mage of

] 2] @ 2.}
Y = v o N = v <

0O o (3) @)

Directions (Q. No. 88 and 89) :

Choose the correct figure from the given options :

88,
?
(1) ) O - o
ocooo| oo
(o0 OO
@R@|+ + +
8. |2 ¥
T
00O ?
000
# 4+ x x x| |COO o<
+ -+ + x % 00 ol e
OCOO||looo||[++++||++++
00 || oo || +++ || ++

(2) @) (4)

©
\

[CODE|[viI| 1] 25|

87. [(2.%)| A Qou
&
@ & @ )
v = Y o A= v =

(1) (2) (3) (4)

suflpemnp (el.sr6m B8 oML 8Y) :

Qer@ssliulL. wrom eflensefledmba
sflwren uLsHemans Gairal Qals.

88.
4

1) (2) (3) (4)
coo| o0
o 0 oSO
eaal+ + +

go. |2 il
k
000 ?
Qo0
+ + + x x x ||O OO o0
+ + + || x x o0 o ¢
SOO||looo||++++||++++
OO OO + + + + +
(1) (2) (3) (4)

21



|CODE [VIII[ I [ 25 ]

90. Number of squares in the given figure is :

(1) 8 (2) 22

@ /32 (4) 34

-o0Dao-

22

90.

Car@&éas0ul Herear LSSl Querer
sgiraiseficr eramenflions

-o00o-
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Sreysngguin LGSl (efHudlugheE el UL s6e0)
FOR ROUGH USE {Not for evaluation)
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Sireyangid UGS (bHOT pE &Ll 56000)
FOR ROUGH USE (Not for evaluation)
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